
Adding and Subtracting Money 

• Choose a pair of items from the following list.  
 

• Calculate the total cost mentally.  
 

• Then use a counting up strategy to calculate the change from £10.  
 

• Repeat this for another 3 pairs of items. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
• Now choose three items that will have a total cost of less than £10.  

 
• Calculate the total cost and the change from £10. 

 
• The shopkeeper decides to increase the cost of each item by 70p.  

 
• Write the new cost of each item. 
 

 

£3.60 £4.10 £2.50 £3.10 

£1.90 £3.40 £4.30 £5.20 
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